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1. Draw a quadrilateral in the cartesian plane

whose vertices are


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2T4eXH7Vvg5G

(—4,5),(0,7), (5, —5) and (— 4, — 2).

also, find its area.

° Watch Video Solution

2. The base of an equilateral triangle with side
2a lies along the y - axis such that the
midpoint of the base is at the origin. Find

vertices of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_2T4eXH7Vvg5G
https://dl.doubtnut.com/l/_U8nDEtllLqqs

3. Find the distance between P(z,y;) and

Q(x2, y2) when PQ is parallel to the y-axis.

° Watch Video Solution

4. Find the distance between P(xq,y;) and

Q(x2, y2) when PQ is parallel to the X-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_eltZ6tHBI4cM
https://dl.doubtnut.com/l/_KROfxjBV2Kbc

5. Find a point on the x-axis,which is

equidistant from the points (7,6) and (3,4)

° Watch Video Solution

6. Find the slope of a line, which passes
through the orgin and the mid point of the
line segment joining the points P(0,-4) and B

(8,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_RxwZbYl2EbQt
https://dl.doubtnut.com/l/_BiZrDxlcEqCG
https://dl.doubtnut.com/l/_hUdvjHsbiLBa

7. Without using the pythagoras theorem
show that the points (4,4),(3,5) and (-1, -1) are

the vertices of a right angled triangle.

o Watch Video Solution

8. Find the slope of the line, which makes'
angle of 30° with the positive direction of y-

axis measured anticlockwise.

o Watch Video Solution



https://dl.doubtnut.com/l/_hUdvjHsbiLBa
https://dl.doubtnut.com/l/_5UiGKSvetyVa
https://dl.doubtnut.com/l/_DRclsrwo0t5a

9. Find the value of x for which the points (x,-1),

(2,)and(4,5) are collinear.

° Watch Video Solution

10. Without using distance formula, show that
(-2, -1),(4,0),(3, 3) and (-3,2) are the vertices of a

parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_DRclsrwo0t5a
https://dl.doubtnut.com/l/_h97pNWwQBe0k

11. Find the angle between the positive x-axis

and the line joining the points (3,-1) and (4,-2).

° Watch Video Solution

12. The slope of a line is double of the slope of
another line. if tangent of the angle between

1
them is 3 find the slopes of the lines.

° Watch Video Solution



https://dl.doubtnut.com/l/_Nh4ljI692qsk
https://dl.doubtnut.com/l/_USUh2vjOsgTM

13. A line passes through (z1,y;) and (hk). if
the slope of the line is m, show that

k—y1=m(h—$1)

o Watch Video Solution

14. If three points (h,0), (a,b) and (0k) lie on a

a b
line,showthat — + — =1
ine, show ah .

° Watch Video Solution



https://dl.doubtnut.com/l/_z6ZwA8lafAqS
https://dl.doubtnut.com/l/_svYdMi6BkkrN

15. Consider the following population and year
hraph (sec figure). find the slope of the line AB

and using it, ind what will be the population

in the year 20107

i

:

= 100 :

s |

g (1995, 97)
B 2LAf%ss, )

e -5 ’

1985 1990 1995 2000- 2005 2010 E
W Year

o Watch Video Solution



https://dl.doubtnut.com/l/_qPZDGXX3lrOZ

16. Find the slope of the line joining (x,- 1) and

(2,1)

o Watch Video Solution

17. Find the slope of the line joining (2,1) and

(4,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_dAWOjol4O1pZ
https://dl.doubtnut.com/l/_MZvjgoVqUh1H

18. Find the value of x for which the points

(x,-1),(2,1)and(4,5) are collinear.

° Watch Video Solution

19. Consider the line passing through the

points (3,4) and (x,5) Find the slope of the line

o Watch Video Solution



https://dl.doubtnut.com/l/_TAVOQZLIYedG
https://dl.doubtnut.com/l/_9JxpHHtY1J0G

20. Consider the line passing through the
points (3,4) and (x,5) if the line makes an angle
of 135° with positive direction of x-axis, find

the value of x.

° Watch Video Solution

21. Find the slope of the line through (3,y) and

(2’7)

o Watch Video Solution



https://dl.doubtnut.com/l/_UKYfnCY7e5xS
https://dl.doubtnut.com/l/_FlgzlDzXrYEL
https://dl.doubtnut.com/l/_9Tu5Hsbf176y

22. Find the slope of the line passing through

(-1,4) and (0,6)

° Watch Video Solution

23. If the lines passing through (3,y) and (2,7)
are parallel to the line through (- 1, 4) and (O,

6) find the value of y

° Watch Video Solution



https://dl.doubtnut.com/l/_9Tu5Hsbf176y
https://dl.doubtnut.com/l/_dGpxp1pqvm0M

24. If the lines passing through (3,y) and (2,7)

are perpendicular find the value of y

° Watch Video Solution

25, Consider the triangle with vertices A (4,4),B
(3,5) and C (-1,-1) Using pythagoras theorem

prove that A ABC is right angled.

° Watch Video Solution



https://dl.doubtnut.com/l/_VejFphLAXHiq
https://dl.doubtnut.com/l/_AGM3GBO4xdOZ

26. Without using the pythagoras theorem
show that the points (4,4),(3,5) and (-1, -1) are

the vertices of a right angled triangle.

o Watch Video Solution

27. Consider a quadrilateral whose vertices are
A (- 4,2),B (2,6), C (8,5) and D (9,7) Find the mid

point of the sides of the quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_66oOUa1Lh8QX
https://dl.doubtnut.com/l/_NYcmKreC0vjs
https://dl.doubtnut.com/l/_5m5zKKcxGZuW

28. Consider a quadrilateral whose vertices are
A (- 4,2)B (2,6), C (8,5) and D (9,7) Find the mid

point of the sides of the quadrilateral.

o Watch Video Solution

29. Find the equation of a line that has y-
intercept 5 and is perpendicular to the line

joining (2, -3) and (4,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_5m5zKKcxGZuW
https://dl.doubtnut.com/l/_AyMwBqBXxB3U
https://dl.doubtnut.com/l/_gkd6SNrk96G2

30. Find the equation of the perpendicular
bisector of the line segment joining the points

A (2,3) and B (6, -5).

o Watch Video Solution

31. In what ratio is the line joining the points
(4, -5) and (2,3) divided by the line passing

through the points (6,8) and (-3,-2).

o Watch Video Solution



https://dl.doubtnut.com/l/_gkd6SNrk96G2
https://dl.doubtnut.com/l/_2Lfy54pOLB5z

32. Find the equation to the straight line
which passes through the point (5,6) and has
intercepts on the axes equal in magnitude and

both positive.

° Watch Video Solution

33.The L r distance of a line from the origin
is 5 cms and its slope is — 1. find the equation

of the line

° Watch Video Solution



https://dl.doubtnut.com/l/_8T8UMaHfTIXT
https://dl.doubtnut.com/l/_aDI9BAPkSbmG

34. Write the equation for x- axis and y-axis.

o Watch Video Solution

35. Find the equation of the line passing

1
through (-4,3) and with slope 3

o Watch Video Solution



https://dl.doubtnut.com/l/_aDI9BAPkSbmG
https://dl.doubtnut.com/l/_fVfkDEvP6Wcm
https://dl.doubtnut.com/l/_zth8ahW07BM7

36. Find the equation of the line passing

through (0,0) with slope m.

° Watch Video Solution

37. Find the equation of the line passing
through (2, 24/3) and inclined with the x-axis

at an angle of 75°

° Watch Video Solution



https://dl.doubtnut.com/l/_G3FUzXq7YulE
https://dl.doubtnut.com/l/_ThU02wrEEUqC

38. Find the equation of the line intersecting
the x-axis at a distance of 3 units to the left of

origin with slope -2.

o Watch Video Solution

39. Find the equation of the line intersecting
the y-axis at a distance of 2 units above the
origin and making an angle of 30° with the

positive direction of the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_KYKDgiJqL5Fy
https://dl.doubtnut.com/l/_Xel6DUIHTlsE

40. Find the equation of the line passing

through (-1,1) and (2, -4)

o Watch Video Solution

41. Find the equation the following lines
satisfying the given conditions.

perpendicular distance from origin is 5 units
and the angle the perpendicular makes with

the positive direction of x-axis is 30°.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xel6DUIHTlsE
https://dl.doubtnut.com/l/_ZpoVRsdmpYHH
https://dl.doubtnut.com/l/_YW2iUrCxrrUe

42. The vertices of A PQR are P (2, 1),0 (-2,3)
and R (4,5).find the equation of the median

through the vertex R.

o Watch Video Solution

43. Find the equation of the line passing
through the point (-3,5) and perpendicular to

the line through the points (2,5) and (-3,6).

o Watch Video Solution



https://dl.doubtnut.com/l/_YW2iUrCxrrUe
https://dl.doubtnut.com/l/_MsAdN0YDzLSR
https://dl.doubtnut.com/l/_tUPJvtqLmGDF

44. A line perpendicular to the line segment
joining the points (1,0) and (2,3) divides it in

the ratio 1:n. find the equation of the line.

o Watch Video Solution

45. Find the equation of the line that cut off
equal intercepts on the coordinate axis and

passes through the point (2,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_tUPJvtqLmGDF
https://dl.doubtnut.com/l/_QRAtqKSBK66P
https://dl.doubtnut.com/l/_oHFUCkCmc3xd

46. Find the equation of the line passing
through the point (2,2) and cutting off

intercepts on the axis whose sum is 9.

o Watch Video Solution

47. Find the equation of the line through the
. : 2w

point (0,2) making an angle 3 with the

positive x-axis,also find the equation of the

line parallel to it and crossing the y-axis at a

distance 2 units below the origin.

| & |


https://dl.doubtnut.com/l/_7s3XRckW0fqa
https://dl.doubtnut.com/l/_oNCXbq23g7AI

| ¥ Watch Video Solution |

48. The perpendicular from the origin to a line
meets it at the point (-2,9),find the equation

of the line.

o Watch Video Solution

49. The length L (in cms) of a copper rod is a
linear function of its celsius temperature C. in
an experiment, if L =124.942 when C=20and L

=125.134 when C =110 express L interms of C.


https://dl.doubtnut.com/l/_oNCXbq23g7AI
https://dl.doubtnut.com/l/_kHH9PS7PwLSh
https://dl.doubtnut.com/l/_G3KG1mRFthF0

° Watch Video Solution

50. The owner of a milk store finds that he can
sell 980 litres of milk each week at Rs. 14/litre
and 1220 litres of milk each week at Rs. 16/litre.
Assuming a linear relationship between selling
price and demand, how many litres could he

sell weekly at Rs.17/litre.

o Watch Video Solution



https://dl.doubtnut.com/l/_G3KG1mRFthF0
https://dl.doubtnut.com/l/_cCOWrWNI4SqI

51. P(a,b) is the mid-point of a line segment
between axis. Show that equation of the line is

T
Z 129
a+b

o Watch Video Solution

52. Point R (h,k) divides the line segment
between the axes in the ratio 1:2. find the

equation of the line.

o Watch Video Solution



https://dl.doubtnut.com/l/_UVSQXCNB3A48
https://dl.doubtnut.com/l/_jty2tY9ve7qy
https://dl.doubtnut.com/l/_6lVZdlXLSTY6

53. By using the concept of equation of a line,
prove that the three points (3,0),(-2,-2) and

(8,2) are collinear.

o Watch Video Solution

54. Look at the following figures. By observing
the figures write down their cartesian

equations

NP

I o Watch Video Solution ‘



https://dl.doubtnut.com/l/_6lVZdlXLSTY6
https://dl.doubtnut.com/l/_8QxE2NXaNbxH

55. What is the geometric property possessed
by the straight lines of each system given by

Yy =mx + 8

o Watch Video Solution

56. What is the geometric property possessed
by the straight lines of each system given by

y =6z + 8

o Watch Video Solution



https://dl.doubtnut.com/l/_8QxE2NXaNbxH
https://dl.doubtnut.com/l/_CbrpP2R8RePt
https://dl.doubtnut.com/l/_TjqPWCNKMTrw

57. What is the geometric property possessed
by the straight lines of each system given by

9z + 6y = k

o Watch Video Solution

58. What is the geometric property possessed
by the straight lines of each system given by

y+4=m(z —5)

o Watch Video Solution



https://dl.doubtnut.com/l/_TjqPWCNKMTrw
https://dl.doubtnut.com/l/_yvIL5YNQYjTo
https://dl.doubtnut.com/l/_Otq4aqmjjITX

59. What is the geometric property possessed

by the straight lines of each system given by

Y

T
l=— 4+ =
a+3

° Watch Video Solution

60. What is the geometric property possessed
by the straight lines of each system given by

(4 + 3y + 2) + k(3z + 7y) = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_Otq4aqmjjITX
https://dl.doubtnut.com/l/_T5PyMity6Cgw
https://dl.doubtnut.com/l/_ktLfrrQs853N

61. Find the slope of the line joining the points

(acos 8, bsinf) and (a cos ¢, bsin ¢)

° Watch Video Solution

62. If the line joining the points
(acos@,bsinf) and (acos ¢, bsin¢@).Prove

that the equation of this lines s

L 0+¢—I—ysin0+¢—cose_¢
a 2 b 2 2

° Watch Video Solution



https://dl.doubtnut.com/l/_Tr6WDVPMTAfs
https://dl.doubtnut.com/l/_jgw5tx56y8S7
https://dl.doubtnut.com/l/_FUPRr3XNKcO1

63. Find the equation of the line joining the

points (2,3) and (4,1)

o Watch Video Solution

64. Find the co-ordinates of the point which
divides the line joining the points (-3,4) and

(-1,-2) in the ratio | : m

o Watch Video Solution



https://dl.doubtnut.com/l/_FUPRr3XNKcO1
https://dl.doubtnut.com/l/_JEA7rynkCZzl

65. Find the ratio of division in the point of

division lies on the line in

° View Text Solution

66. Consider the points A (2,3) and B (6,5) Find
the co-ordinates of the mid point of the

segment joining A and B

° Watch Video Solution



https://dl.doubtnut.com/l/_1ReKZWHyOtKR
https://dl.doubtnut.com/l/_e8DCXGTKbbX1

67. Consider the points A (2,3) and B (6,5) find

the slope of AB

° Watch Video Solution

68. Consider the points A (2,3) and B (6,5) What

is the slope of a line perpendicular to AB?

o Watch Video Solution



https://dl.doubtnut.com/l/_A4IsZnJY9Sov
https://dl.doubtnut.com/l/_JzdZ469jTNMx

69. Consider the points A (2,3) and B (6,5) Find
the equation of the perpendicular bisector of

the line segment AB

o Watch Video Solution

70. Let a and b be the intercepts made by a
line on the x-axes and y-axes respectively If the
area of the triangle formed by the co-ordinate

axes and the line is 6 sqg. units and the lenght


https://dl.doubtnut.com/l/_nW0Apl64Lsfd
https://dl.doubtnut.com/l/_n3SLi8iHnbPc

of the hypotenuse of this triangle is 5 units,

derive two equationsinaandb

° Watch Video Solution

71.Let a and b be the intercepts made by a line
on the x-axes and y-axes respectively.f the area
of the triangle formed by the coordinate axis
and the line is 6 square units and length of
the hypotenuse is 5 units. Prove that the
equation of the line is 3x + 4y =12 or 3x + 4y =

-120or4x+3y=120r-4x-3y=12

| e |


https://dl.doubtnut.com/l/_n3SLi8iHnbPc
https://dl.doubtnut.com/l/_QRHY1n6GmrTp

& Wwatch Video Solution I

72. Suppose that two opposite vertices of a
square are (1,2) and (5,8) Find the co-ordinates

of its other two vertices

° Watch Video Solution

73. Suppose that two opposite vertices of a
square are (1,2) and (5,8) Find the equations of

the sides of the square

l ° Watch Video Solution


https://dl.doubtnut.com/l/_QRHY1n6GmrTp
https://dl.doubtnut.com/l/_J9xt7USMbHQd
https://dl.doubtnut.com/l/_mEOrpabCh4gd

74. Consider the points P (2,4) and Q (-2,5) Find

the slope of PQ

o Watch Video Solution

75. Consider the points P (2,4) and Q (-2,5) Find
the mid point of PQ Hence, find the equation

of the perpendicular bisector of PQ

o Watch Video Solution



https://dl.doubtnut.com/l/_mEOrpabCh4gd
https://dl.doubtnut.com/l/_mb1580k7y16l
https://dl.doubtnut.com/l/_zbXMFXPuEPeM
https://dl.doubtnut.com/l/_2OsQPKBYGD18

76. Suppose D (2,1), E (-5,7),F(-5,-5) are the mid
points of the sides ABBC and CA of the

triangle ABC Find the slope of DF,DE and EF

° Watch Video Solution

77. Suppose D (2,1), E(-5,7),F (-5,-5) are the mid
points of the sides ABBC and CA of the
triangle ABC Find the equation of the sides AB,

BC and CA

° Watch Video Solution



https://dl.doubtnut.com/l/_2OsQPKBYGD18
https://dl.doubtnut.com/l/_MrY6ybZieVQb

78. Reduce the equation /3z + y + 2= 0 to :
slope - intercept from and find slope and y -

intercept,

° Watch Video Solution

79. Reduce the equation /3z + y + 2 = Oto :

intercept form and find intercepts on the axes:

o Watch Video Solution



https://dl.doubtnut.com/l/_MrY6ybZieVQb
https://dl.doubtnut.com/l/_uXn7ZzkZjq9b
https://dl.doubtnut.com/l/_shuMH9c2ppW3
https://dl.doubtnut.com/l/_u6ILuXkkyhDM

80. Reduce the equation /3z + y + 2 = Oto :

the normal from and find p and «

° Watch Video Solution

81. If p be the measure of the perpendicular
segment from the origin on the line whose

intercepts on the axis are a and b show that

1 1 1
[ERP I

0 Watch Video Solution



https://dl.doubtnut.com/l/_u6ILuXkkyhDM
https://dl.doubtnut.com/l/_Rh2ZfIaUD0t3

82. Find the distance of the point (- 2,3) from

the linex-y=5.

o Watch Video Solution

8. Find the distance of the point (4,2) from

the line joining (4,1) and (2,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_9fRq9rjhnCk9
https://dl.doubtnut.com/l/_IkFckxL4BXHr

84. Reduce the following equations into slope
intercept form and find their slopes and the y-
intercepts.

e +T7y=20

i) 6x +3y—5=20

(i) y = 0

o Watch Video Solution

85. Reduce the equation 6z 4+ 3y — 5 = 0 into

slope intercept form and hence find it slope


https://dl.doubtnut.com/l/_Fe5EbsXnziV9
https://dl.doubtnut.com/l/_92GzwhOm7ErH

and y-intercept

o Watch Video Solution

86. Reduce the following equation into slope
intercept form and find their slopes and the y-

intercepts ¢z 4 7y = 0

o Watch Video Solution

87. Find the x and y intercepts of the line

3z +4y—12 =10


https://dl.doubtnut.com/l/_92GzwhOm7ErH
https://dl.doubtnut.com/l/_agBlFfXNSEaV
https://dl.doubtnut.com/l/_RJCOhNULzwo0

° Watch Video Solution

88. Find the slopex-intercept and y-intercept
of the following lines.

dr — 3y =6

° Watch Video Solution

89. Reduce the following equation into slope
intercept from and find their intercepts on the

axes. 3y +2 =10

| |


https://dl.doubtnut.com/l/_RJCOhNULzwo0
https://dl.doubtnut.com/l/_9ly7ZaYnTgKp
https://dl.doubtnut.com/l/_AG8tEmnvIcPM

& Wwatch Video Solution I

90. Reduce of the following equation into
normal from. Find their perpendicular distance
from the origin and angle between

perpendicular and the positive x-axis.

T —3y+8=0

O Watch Video Solution

91. Reduce the following equation into normal

from. Find their perpendicular distance from


https://dl.doubtnut.com/l/_AG8tEmnvIcPM
https://dl.doubtnut.com/l/_9rNDsiu6B8ra
https://dl.doubtnut.com/l/_UzFqNccQXqD1

the origin and angle between perpendicular

and the positive x-axisy — 2 = 0

° Watch Video Solution

92. Reduce the following equation into normal
form. Find their perpendicular distance from
the origin and angle between perpendicular

and the positive x-axis.x — y = 4

o Watch Video Solution



https://dl.doubtnut.com/l/_UzFqNccQXqD1
https://dl.doubtnut.com/l/_9FRwzRtNATIh

93. Find the distance of the point (-1,1) from

the line 12(x + 6) =5 (y - 2)

o Watch Video Solution

94. Find the points on the x-axis, whose

distance from the line § + % =1are 4 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_AtVXaNODAEpL
https://dl.doubtnut.com/l/_3X5shc31raeE

95. Find the distance between the parallel

lines 15x + 8y -34 =0and 15x+ 8y +31=0

o Watch Video Solution

96. Find the distance between the parallel

linesl (x+y)+p=0andl(x+y)-r=0

o Watch Video Solution



https://dl.doubtnut.com/l/_OS2XqhN2YqwU
https://dl.doubtnut.com/l/_SkBQRFNBzuJc

97. Find the equation of the line parallel to the
line 3z — 4y + 2 = 0 and passing through

the point (-2,3).

o Watch Video Solution

98. Find the equation of the line perpendicular
to the line £ —7y+ 5 =0 and having x-

intercept 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_anVhT0fs4O8D
https://dl.doubtnut.com/l/_Y7oxvE56KtqR
https://dl.doubtnut.com/l/_tbnAbFniNGlx

99. Find angles between the Ilines

V3z +y=1landz +.,3y=1

° Watch Video Solution

100. The line through the points (h,3) and (4,1)
intersects the line 7x -9y - 19 = 0 at right angle.

find the value of h.

° Watch Video Solution



https://dl.doubtnut.com/l/_tbnAbFniNGlx
https://dl.doubtnut.com/l/_cngjPhDaG4KE

101. Prove that the line through the point
(z1, y1) and parallel to the line Ax + By +C=0

is A(x —xz1) + Bly—y1) =0

o Watch Video Solution

102. Two lines passing through the point(2,3)
intersect each other at an angle of 60°. If
slope of one line is 2, find equation of the

other line.

° Watch Video Solution



https://dl.doubtnut.com/l/_jfGKcI1NFtJ8
https://dl.doubtnut.com/l/_koxw7CFIRRz1

103. Find the equation of the right bisector of
the line segment joining the points (3,4)and

(-1 ’2)

° Watch Video Solution

104. Find the co-ordinates of the foot at the
perpendicular from the point (-1,3) to the line

3x-4y-16=0

° Watch Video Solution



https://dl.doubtnut.com/l/_koxw7CFIRRz1
https://dl.doubtnut.com/l/_1AeBHXZ70HkO
https://dl.doubtnut.com/l/_HCAFFwH59Bkw

105. The perpendicular from the origin to a
line y = mx + c meets it at the point (-1,2).Find

the values of m and c.

o Watch Video Solution

106. If p and q are the lenghts of the
perpendiculars from the origin to the lines
xcos — ysinf = kcos 20 and
x secf + ycos ecl = k respectively prove that

p2+4q2=k2

| & I


https://dl.doubtnut.com/l/_U2SRNBglO50r
https://dl.doubtnut.com/l/_IMtBTGmIVCay

| ¥ Watch Video Solution |

107. In the triangle ABC with vertices A (2,3), B
(4, -1) and C (1,2), find the equation and length

of altitude from the vertex A.

o Watch Video Solution

108. Consider a line with equation
T — /3y + 4 = 0 Reduce the given equation
into slope-intercept form and find the slope

and y - intercept of the line


https://dl.doubtnut.com/l/_IMtBTGmIVCay
https://dl.doubtnut.com/l/_IZXVBOd8HshT
https://dl.doubtnut.com/l/_6RUA45PMLrF2

° Watch Video Solution

109. Consider a line with equation
T — /3y + 4 = 0 Reduce the given equation
into slope-intercept form and find the slope

and y - intercept of the line

o Watch Video Solution

10. Consider a line with equation

T — /3y + 4 = 0 Reduce the given equation


https://dl.doubtnut.com/l/_6RUA45PMLrF2
https://dl.doubtnut.com/l/_FPZspIr6BcTi
https://dl.doubtnut.com/l/_Y5EUHKgvsJn6

into normal form and find the length of the
perpendicular from the origin on the line and
the angle made by this perpendicular with the

X- axis.

° Watch Video Solution

111. Find the length of the perpendicular from

the origin to theline2x-y+3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Y5EUHKgvsJn6
https://dl.doubtnut.com/l/_Vy5Hlq44nTth

112. Find the lenght of the perpendicular from

the origin to the linex-4y-7=0

o Watch Video Solution

113. Which of the above lines is farther from

the origin ?

o View Text Solution



https://dl.doubtnut.com/l/_s0tVZCJulJvp
https://dl.doubtnut.com/l/_lS8dunL9AhHj

114. Consider the points A (2,4) and B (3,-1) By
two point form find the equation of the line
AB. Hence find the x - intercept and y-intercept

of the line AB.

° Watch Video Solution

115. Complete the following table

RS

Equation of a line Slope of the line y—intercept of the | x'-— intercept of the
) line - line
2x43y=6 =0 - e a
3x-2y-1=0 | = = m— e
dx+6y+1 =0 - USRILRE RS
-3x+d4y—-4=0 | = - e E—

[ o Watch Video Solution



https://dl.doubtnut.com/l/_1S5XqyfB2V6O
https://dl.doubtnut.com/l/_nkjMzUo7nuK3

116. Prove that 2x + 3y -6 =0 and 3x-2y-1=0

are perpendicular

° Watch Video Solution

117. Prove that 2x + 3y-6=0and 4x+ 6y +1=0

are parallel

o Watch Video Solution



https://dl.doubtnut.com/l/_nkjMzUo7nuK3
https://dl.doubtnut.com/l/_EhRz3CvI5veT
https://dl.doubtnut.com/l/_y4Si1U52W9Gz

118. Suppose a line cuts off intercept 4 on the
x-axis and the line makes angle 60° with the
positive direction of the x-axis. Find the co-

ordinates of a point on the line

o Watch Video Solution

119. Suppose a line cuts off intercept 4 on the
x-axis and the line makes angle 60° with the
positive direction of the x-axis. Find the slope

of the line. Hence find the equation of the line.

| & |


https://dl.doubtnut.com/l/_jsUhwGHv28KA
https://dl.doubtnut.com/l/_mJulLBNXnOUm

| ¥ Watch Video Solution |

120. Consider a triangle ABC with vertics A
(2,5),B (-4,9) and C (-2,-1) Find the co-ordinates

of the mid points of AB,BC and AC

o Watch Video Solution

121. Consider a triangle ABC with vertics A
(2,5),B (-4,9) and C (-2,-1) Find the equations of

the medians of the triangle

o Watch Video Solution



https://dl.doubtnut.com/l/_mJulLBNXnOUm
https://dl.doubtnut.com/l/_B6O9xgbe6b56
https://dl.doubtnut.com/l/_n92oa632VTmZ

122. Consider the points A (1,2) and B (2,3)
Let P and Q be the points of trisection of the
segment joining A and B Find the co-ordinates

of Pand Q

o Watch Video Solution

123. Consider the points A (1,2) and B (2,3)
Let P and Q be the points of trisection of the

segment joining A and B Find the equation of


https://dl.doubtnut.com/l/_n92oa632VTmZ
https://dl.doubtnut.com/l/_YmuWZrToi9lC
https://dl.doubtnut.com/l/_W18b1Rpn70rW

the line passing through P and perpendicular

to AB

o Watch Video Solution

124. Consider the points A (1,2) and B (2,3)

Let P and Q be the points of trisection of the
segment joining A and B Find the equation of
the line passing through Q and perpendicular

to AB

o Watch Video Solution



https://dl.doubtnut.com/l/_W18b1Rpn70rW
https://dl.doubtnut.com/l/_FLZi9NeSZPHA
https://dl.doubtnut.com/l/_KCftJLvZqN7u

125. What is the distance of the point (h)k)

from the line 9x + 40y + 21 =07

o Watch Video Solution

126. If (h,k) lies on 9z + 40y — 20 = 0, what is

the value of 9h + 40k?

° Watch Video Solution



https://dl.doubtnut.com/l/_KCftJLvZqN7u
https://dl.doubtnut.com/l/_yzGHTBjRcwC3

127. Find the distance between the parallel
lines 9z + 40y + 21 =0 and

9z + 40y — 20 = 0.

o Watch Video Solution

128. Let A (5,2), B (3,-3) and C (-4,3) be the

vertices of a A ABC. Find the equation of BC

° Watch Video Solution



https://dl.doubtnut.com/l/_yy3m9abR7iOF
https://dl.doubtnut.com/l/_5s3tcn5zy0HL

129. Let A (5,2), B (3,-3) and C (-4,3) be the
vertices of a A ABC Find the length of the

altitude from A to BC

o Watch Video Solution

130. Suppose that the line x - 2y + 3 =0 is
rotated through a right angle about its point
intersection with the line 3x + y + 2 = 0 Find

the slope of the line in the new position

° Watch Video Solution



https://dl.doubtnut.com/l/_ps4EIxA8wYvu
https://dl.doubtnut.com/l/_JlZ0wXwbFlsW

131. Suppose that the line x - 2y + 3 =0 is
rotated through a right angle about its point
intersection with the line 3x + y + 2 = O Find

the slope of the line in the new position

o Watch Video Solution

132. Consider the points A (5,1) ,B (1,-1) and C
(11,4) Raju proved AB,C are collinear by finding
the equation of AB. write the steps written by

Raju.


https://dl.doubtnut.com/l/_JlZ0wXwbFlsW
https://dl.doubtnut.com/l/_ssCiT5LcpqiO
https://dl.doubtnut.com/l/_3s4Xa9GNTxqL

° Watch Video Solution

133. Consider the points A (5,1) ,B (1,-1) and C
(11,4) Saji proved AB and C are collinear by

using slope. Write the steps written by Saji.

° Watch Video Solution

134. Consider the points A (5,1) ,B (1,-1) and C

(11,4) Ram proved A,B,C are collinear by using


https://dl.doubtnut.com/l/_3s4Xa9GNTxqL
https://dl.doubtnut.com/l/_yLKA1GJ4gvtr
https://dl.doubtnut.com/l/_kJqX7BfS3FzY

distance formula. Write the steps written by

Ram

° Watch Video Solution

135. Consider the points A (5,1) ,B (1,-1) and C
(11,4) Neelima proved AB,C are collinear by
using area of ABC. Write the steps written by

Neelima.

o Watch Video Solution



https://dl.doubtnut.com/l/_kJqX7BfS3FzY
https://dl.doubtnut.com/l/_RltkWtFayiLX

136. Complete the following table

FRE Lo L) OCULEICIS LIS LJOHOWINE 1ADie

Equation of the | Slope of theline | y~intercept of | x— interceptof | Length of the
line the line the line perpendicular
from the origin
I on the line |
3x+2y—12 = 0]
a-4y4+5=0

° Watch Video Solution

137. Reduce the lines 3x - 4y + 4 = 0 and 4x - 3y
+ 12 = 0 to the normal form and hence

determine which line is nearer to the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_NGUNqZexROxC
https://dl.doubtnut.com/l/_WgcHIDyRBKY2
https://dl.doubtnut.com/l/_s1ByuGP3csEH

138. A stright line has equation 6x - 4y + 9 =
0.......(1) Write down is slope Find the slope of

lines parallel and perpendicular to (1)

° Watch Video Solution

139. A straight line has equation 6x - 4y + 9 =
0.......(1) Write down its slope, Write down the
equation of the lines trough (1,2), parallel and

perpendicular to (1)

o Watch Video Solution



https://dl.doubtnut.com/l/_s1ByuGP3csEH
https://dl.doubtnut.com/l/_TaE2IkUpStbf

140. Find the point of inersection of the

: .z Y L Y
t htl — —=1 d— —:1
straig mea—l—b an b—l—a

° Watch Video Solution

141. Consider a triangle whose sides arey = x, y
=2x and y = 3x + 4 Find the co-ordinates of the

vertices of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_VLh31YI2QEfL
https://dl.doubtnut.com/l/_2aY776rWGDWD

142. Consider a triangle whose sides arey =x,y
= 2x and y = 3x + 4 Find the centroid of the

triangle.

o Watch Video Solution

143. Consider a triangle whose sides arey = x,y
= 2x and y = 3x + 4 Find the area of the

triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_zm7OJ58qqWoC
https://dl.doubtnut.com/l/_5uRe7gP7Rrvw
https://dl.doubtnut.com/l/_4dG9ptRGJFhD

144. Find the values of k for which the line (k-3)
x- (4 — k?) y+k*-7k+6=0is parallel to the

X-axis

o Watch Video Solution

145. Find the values of k for which the line
(k—3)z— (4—-FK)y+k —Tk+6=0 is

parallel to the y-axis

o Watch Video Solution



https://dl.doubtnut.com/l/_4dG9ptRGJFhD
https://dl.doubtnut.com/l/_MSh7hpJtNiVz
https://dl.doubtnut.com/l/_RsYuEpKGxJ7b

146. Find the values of k for which the line
(k—3)z— (4—-K)y+k —Tk+6=0 is

passing through the origin

o Watch Video Solution

147. Find the values of 6 and p, if the equation
xcosf + ysinf = p is the normal form of

V3z +y+2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_RsYuEpKGxJ7b
https://dl.doubtnut.com/l/_WwJoQkVeLg3M

148. Find the equation of the lines, which cuts
off intercepts on the axes whose sum and

product are 1 and - 6 respectively.

o Watch Video Solution

149. What are the points on the y-axis whose

distance from the line % + % — 1is 4 units.

° Watch Video Solution



https://dl.doubtnut.com/l/_PXGieuwyTnkq
https://dl.doubtnut.com/l/_an3CuCcFWNhv

150. Find perpendicular distance from the
origin of the line joining the points

(cos @, sin#) and (cos ¢, sin ¢)

o Watch Video Solution

151. Find the equation of the line parallel to y-
axes and drawn through the point of
intersection of the lines x-7y+5=0and 3x +y

=0

° Watch Video Solution



https://dl.doubtnut.com/l/_FlCvRb19kd5o
https://dl.doubtnut.com/l/_ZFElNpszjRIY

152. Find the equation of a line drawn

perpendicular to the line E—|—£:1

4 6

through the point where it meets the y-axis.

° Watch Video Solution

153. Find the area of the triangle formed by

the lines y-x=0,x+y=0and x-k=0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZFElNpszjRIY
https://dl.doubtnut.com/l/_2jaOd7ggoNzI
https://dl.doubtnut.com/l/_LTI1CF1vYGEM
https://dl.doubtnut.com/l/_ZIBpfsrrEtox

154.Find the value of p so that the three lines
3x+y-2=0,px+2y-3=0and 2x-y-3 =0 may

intersect at a point.

o Watch Video Solution

155. If three lines whose equations are
Y =mixT + C1, Yy = My + Cy and
Yy = msx + c3 are concurrent, then show that

mi(co — ¢c3) + ma(c3 — ¢3) + ma(ep — ) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZIBpfsrrEtox
https://dl.doubtnut.com/l/_MP1zfcneDBve
https://dl.doubtnut.com/l/_i97kajVEjBsr

156. Find the equation of the lines through
(3,2) which makes an angle 45° with the line x

-2y =3

° Watch Video Solution

157. Find the equation of the line passing
trough the point of intersection of the lines 4x
+ 7y -3 =0and 2x - 3y + 1 = 0 that the equal

intercepts on the axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_i97kajVEjBsr
https://dl.doubtnut.com/l/_NWNkBIdLfcb8

158. Show that the equation of the line
passing through the origin and making an

angle 6 with the line y=mx+c is

Y m + tan6 Y m — tan6

o
T 1 —mtan6 g T 1+ mtané

o Watch Video Solution

159. In what ratio the line joining (-1,1) and (5,7)

is divided by the linex+y=47?

° Watch Video Solution



https://dl.doubtnut.com/l/_XYfyU50RNy2L
https://dl.doubtnut.com/l/_6TamXYEfgXM7
https://dl.doubtnut.com/l/_NTYppBL2QYCv

160. Find the distance of the line 4x + 7y + 5 =

O from the point (1,2) along the line 2x-y =0

o Watch Video Solution

161. The hypotenuse of a right angled triangle
has its ends at the points (1,3) and (-4,1). Find
the equation of the legs (perpendicular sides)

of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_NTYppBL2QYCv
https://dl.doubtnut.com/l/_uyXyA4hO6DaG
https://dl.doubtnut.com/l/_5BdA2qWcUJ1l

162. Find the image of the point (3,8) with
respect to the line x + 3y = 7 assuming the line

to be a plane mirror.

° Watch Video Solution

163. If the lines y =3x + 1 and 2y = « + 3

are equally inclined to the

1
line y:mx+4(§<m<3) then the

values of m are

o Watch Video Solution



https://dl.doubtnut.com/l/_5BdA2qWcUJ1l
https://dl.doubtnut.com/l/_CMS0FcRr5HVe
https://dl.doubtnut.com/l/_TmrzKUNshSRR

164. If the sum for the perpendicular distance
of variable point P (x,y) from the lines x +y -5 =
0 and 3x -2y + 7 = 0 is always 10. show that P

must move on a line.

o Watch Video Solution

165. Find the equation of the line which is

equidistant  from  the parallel lines


https://dl.doubtnut.com/l/_TmrzKUNshSRR
https://dl.doubtnut.com/l/_bWgYlkr91BSv

9 + 6y — 7=0and 3z + 2y +6 =0

I+ 2y+6=0

o Watch Video Solution

166. A ray of light passing through the point
(1,2) reflects on x-axis at the point A and the
reflected ray passes through the point (5,3).

Find the co-ordinates of A.


https://dl.doubtnut.com/l/_bWgYlkr91BSv
https://dl.doubtnut.com/l/_CSId1SqC8jLR

° Watch Video Solution

167. A person standing at the junction
(crossing) of two straight point repersented
by the equation 2x -3y +4 =0 and 3x + 4y -5 =
O wants to reach the path whose equation is
6x - 7y + 8 = O in the least time. Find the

equation of the path that he should follow.

o Watch Video Solution



https://dl.doubtnut.com/l/_CSId1SqC8jLR
https://dl.doubtnut.com/l/_DHE7V3fQaek8

